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3 (Sem-5) PSC M 1

2016

POLITICAL SCIENCE
( Major )

Paper : 5.1

( Western Political Thinkers )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed :

oo WA Ao 391 4909 Tey fore -

1x7=7

(@) Who wrote the book, Discourses?

Discourses €3+ (I foififes 9

(b) Hobbes was the supporter of ‘unlimited
sovereign power’.

(State True or False)
3@ SRS N e’y wNeE S |
(o (7 =g fe741)
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of God

was written by

\ Ve

. Y o \?\‘\3’ Sy { \_‘:“‘\,'\' 1 "‘.“l‘\*i 9

()

Machhavelly/ KIUs|«
Rousscaun /&%)
St Augustine /(%0 W58
Hobbes /29
(Choose the correct answer)

(o Taqhl iy Bfergar)

(1)

(3)

Plato was the disciple ot

srrtss A O
VML Al

(7Ol T Y]

(i) Karl Marx

" 4 ~reaf
&l T

(1) Rousseau

¥

Socrates

STEELL

()

Who has authored the book, Poverty
of Philosophy?

Poverty of Philosophy 2w ferqe @ 2

St Aupgustine  was a  political

philosopher of

(iv) Hobbes

A3\

(Choose the correct answert)

. S S ooy
(wa TEAH! AR THsT)

B0 WA e qraafee wdfae ks

(1

()

(1)

modern period

\-4\&‘;\1.;\9 Yi[d

medieval period

YRS

ancient period

SIARRIKE
(Choose the correct answer)
(& Baqco! aife Tfqea)

( Continued )

(g) According to Plato, in the ldeal State
the number of citizens should be
CATOTR TS @3 S TFT TARET KT I
@ e

() 9250
(i) 6025
() 5S040
(Choose the correct answet)
o e SRS
\G\' waqLL SR Y
v O
A7 /346



(4)

(5)
2. Answer the following questions : 2x4=g (b) Explain the concept of Statecraft of
e fial T TR fors Machiavelli.
" . SRS TERRE ¥R IR I
(a) Mention two qualities of a philosopher (TSEE ZE ¥9 R

king as stated by Plato.
(#0R TEY T 60 gua e ImR

J ; i S view "erv.
B 1o | Discuss Aristotle’s views on slaver

g Feord <R3] TEES W &1

—_—

Or // ESE

(b) Mention two defects of Rousseau’s

thought. (c) Explain critically St. Augustine’s
2R PILRR 71 WERR SEy 39 | concept of two cities.
e e Cr B R - S G
(c) Name two books written by Karl Marx. oTh ek %?
SEETA e < R .
ST AACH 5 90 947 Reerer 719 i | *
(d) Mention any two aspects of human . Or/ 5k

nature as stated by Machiavelli.

QRS SEy ¥ e T Ao o

Write about Locke's conception on

property.
oo TrEe 90 e e s Guanfica
3. Answer the following questions : 5x3=15 , . . 10x3=30
wote Wl epeaee Teg fore 4. Answer the following quesuons : =
(a) Write about the causes of revolution -
: _ . , - of
as mentioned by Aristotle. (a) Critically explain Platos theory ‘?_
) - - ot
<2577 TrEy v o Reew FRPTRR o< | communism. How far his concept o
Or / 1% communism differed from modern
r/ communism?

Explain and evaluate Marx’s conception (75" TR OO FRET RS SN
on class struggle.

T R STeaTR
o WWWWWWW
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7 —
e ( Continued) ~ A7/346
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(b)

(c)

A7/346

(6)

Or / 71331

Write a critical estimate on Plato’s theory
of Justice.

(T0R TR TELOl FAADAIFSIE A
&q |

Discuss Machiavelli’s contribution to
political thought.

ITAEE PEwRE cfmcefer w@we
RGPS

Or / #1341

Critically explain the concept of
Materialistic Interpretation of History
of Karl Marx.

T qEE AR W™ A 4R[SR
FICHATSTLS T SS[ACTE] |

Explain the concept of religion and

politics of St. Augustine. How this
concept ushered a new era in the

realm of political philosophy?
S Ee P
%5 R ol 9% A RETCET AR

FAN G Hger 5
T TEEfSs wxforg SR

'.‘@ﬂ 7;6]? )T;,q ?{Zf’qﬂ 9

{ Continued )

: . £ all
“The history 0l &
s ot , Is 1 stru

society is the history oi class s

(7))
Or ) «7%

Explain the statement.

society 1S
struggle.” @

A7-—9000/346
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3 (Sem-5) ECO M1

2016

cCONOMICS
( Major )
Paper : 5.1

( Elements of Public Finance )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

TS fry] PRy T8 findl

(a) What does Public Finance as a subject
deal with?
S (Sl [Ryycoice 2 e e
¥

(b) Give one example of tax revenue.

9 o729 Q01 Ty fr |

(c) Mention one important source of capital
receipt.

Yo el AT Qb1 wageye Tt fordt |
AT/341A ( Turn Over )



(2) (3)

¢ 1« meant by revenue receipt? 4. Answer any three from the following

TET NG IR R questions 5x3=15

What do v oo i caven Fefeibl orma T8a fora

What do you mean by debt trap?

T W IR D (a) Write a note on the principle of maximum
- . social advantage.
| Slate ons it Gause jor Hie growt N

of public expenditure in a welfare state. fre g S R e S A

20

EETCAETS TUE 5AED =
FTeER AZT TR AR 3w 9O gegeyd IR

[

=
\

() Bring out the importance of public

(g9 What . . ~ ; . -
g/ ] at do you mean by sinking fund? expenditure in the context of developing
AT7ES K TS 397 countries.

2. Answer the following questions : 2x4=8
=T G wevanz TEg ) ' -
73 Tea o (c) Explain the canon of elasticity in the
- 2 text of publi diture.
(a) D1§UngU15h between public goods and context of public expenditure
private goods. sqoR) TR RfemeeeR TR Ry e
Wr}ﬁ?ﬂ%%wmoﬂw%ml 39|
(b) Distinguish b
etween : 4
revente. tax and non-tax (dj “Capital receipts should be used for asset
R creating projects.” Explain the statement.
| e |G w :”-,_' o
B Bt SRR ! hones e AT SRFR FRE T @
©/ Distinguish between public f Tfoe 1”7 S F4 |
private finance. Inance and
s5A=17
41}1“":“%7‘.@"#. : .
7% fr2a wrers ety forat | (e) Write a note on the redemption of public
(dj Nazme two canons of publ; debt.
TrATR AT T S public eXpenditure
) T 55 S T e : Wﬁwqﬂmnﬂ“ﬂw’@cﬁw%@!
7/341A X
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(4)

Three T {
three  from the  following

—— T —-;-»v_(. 1 () x3=3
\,~‘-'\r L. %%“,"[ Gﬂw’f;ﬁ? \0

T =~

(%]

R . . N
In modern countnes of the world the

:Q\'C""I‘ =~ 1IN -

government 18 INC reasingly assuming
responsibiliti 1 0 ; -
ponsibilities relating to social welfare.”

context.
10

“ofd¥r WS z@ﬂﬁ’

SRR 12N kRl TYEE SR PN
T Wiy o Rz : v
T sz SRR TR @R TS SR
RS SRR T T

(b) Distinguish
non-revenue

between  revenue and

pone receipts. Elaborate the
sources of tax and non-tax

revenue.
5+5=10
m?’;:ww S e T S
B3R TOPTYZ IR WS 41 |

()

Bring ou
t
the most important causes

behind .
. .the continuous growth _
penditure in the modern of public
world.

=yl gore
mw—rzl T el I
REPTZ, ST 354 | aFed

10

A7/341A
( Continued )

(5)

() Cntically analyze the effect vl public

expenditure on
distribution of an economy.

D
= FOE NS b RN

and

production
10

N s _
Teopa Wie AT SH4E
.t » .-\ -~ - T ¥ v - ~ e .
ooz QD1 AT A ® SCATSA SIS

what do you mean by purden of public

debt? Bnng out an analytical distinction
between external and internal public

debt.
sl W QN e B KC

-~

10

erorede el W QY WS
RENTNS SIS

* R X
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3 (Sem-5) ASM M 1

2016

ASSAMESE
( Major )

Paper : 5.1
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

s 1 5y Tew fr >xq=9
(%) Afrel ETRAHIPFOG] SO (I ATTTe
#{5feTS ?
(%) ‘oo 2

(51) TR S YE— I 1 ?
(]) <RIAER AR QB b I ?

(3) ‘“zm 7 R corEE & o fee 1 iy aw
e 1”7 FYFAE I&@ R ?

(5) “SPTR G0N AR I 041 2
(z) “TmaaE’ 59 S 961 AW {F 2

A7]T9 ( Turn Over)



(2)

d/ What 1s meant by revenue receipt?

PN xS «
TEY AN I Y9

¢/ What do vyou mean by debt trap?

A RRIRI I

(7 State one important cause for the growth
of public expenditure in a welfare state.
TR T S I 9 @y FEYA 1A
o

(g)

What do vou mean by sinking fund?
#feom AR 316 o0

- Answer the following questions :

2x4=8
T A e T for
(@) Distinguish between public goods and

private goods.

S WE e maR W N oy |

(b) Distinguish
revenue,

WWWWW@WWW|

between tax and non-tax

(c) Distinguish between
private finance,

Public finance and

Ra yiws {127 forey |

/[d) Name two canons of pyb)jc e

TR T 0 R oy

Xpenditure.

( Continued )

the follownng
3. Answer any three from tnhe e
questions )
a4 {1 camen (fm 4@ 7 @
rinciple of maximum
(a) Write a note on the princip:€ o
(d e

social advantage

S5z avAET <5 oE
wfwa wrfee AR S

(b)

()

(dj

(e)

A7/34

far=r |

‘ tance of public
Bring out the importance I
; I nt of developing
expenditure in the context ol I
countnes.

- Y~V T I nET T
SrgeaA Hen AP AT ZFE
T

Explain the canon of elastucity in 1o
context of public expenditure

5 TUAET .
cll

A
\
“
/1
k)

' hould be used for asset
“Capital receipts should be used ! ;
] jects.” lain the statement
creating projects.” Explain t
offgFmem WhER &TT 454 TX
“ofle YR AT EEA 3
few 1 SEAT F 4

~F nubli

Write a note on the redemption 0 pU=:is
debt.
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3 (Sem-5) ASM M 1

2016

ASSAMESE
( Major )

Paper : 5.1

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

> qwm . Crace
(3) ‘Fferer ETABIFICE SRe (FH AT
TS ?
(7) ‘v &2

(s1) S S FeE— TR 7
(])  eparrad Mo cab o (R ?

(®) “aaﬂﬁmﬁswmﬁmlﬁﬁm
(71 17 TR IS (7

(5) WW’WWW?
) e A 5T
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(9)
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8 | WWWW

(3)
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A7/T79

(3)
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e TS e |

uq fafefd e faf i
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ﬁWW@W

ozl Az el
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n-5) ENG M 1

[ 4 )
3 (Se
—¥r Tgm v5 3 TF TE SRR (T
TP On Ge IS ~ 2 0 1 6
TRTT
e S PP ENGLISH
< <, ( Major )

aFe eTe =57
. ST TRTE & 4 ~
v - G f.‘?“!.—?—v
= — m
- -

AETET TETS

" _—

S LA s ~

2, % T e 4

Paper 5.1
( Modern prama—I )

Full Marks : 60
Time : 3 hours

The figures n the margin indicate full marks
for the questions

SECTION———I

irected : 1x3=3

1. Answer the following as d
and Faust in

(@ Who performed Everyman
public places?

ts of Piscator caused,
in the theatre.

( Fill in the blank )

(b) The experimen
above all,

s revealed to us

(c) The Balinese theatre ha
f the

a physical and non-verbal idea ©

theatre.
( State True or False )

'1()’}'()/79
3 (Sem-
5)ASM M 1 A7/153 ( Turn Over )



( 2 )

2. Answer the following as directed :

(a) “These two courses of development are
distinguished from one another
means ol their individual functiong »
What are these functions?

(b) “It must be said that the domain of the
theatre is not psychological but ____ anq

( Fill in the blanks )
3. Write a

short note on any one of the
following

fa) Brecht's idea of alienation

(b) Artaud’s idea of theatrical production as

‘certain poetry in space which itselfl s
taken for sorcery’

4. Answer any one of the following :

(1) Discugs, after Brecht, Piscator’s

contribution to Experimental Theatre.

Or

How does Brecht critique the Arj

| stotelian
idea of theatrey

(b) How does Artaud

’ compare  Orienta)
Theatre with Occident

al Theatre?
Or

Why 1s it nec Cs88ary, in the view

1o change the role of spe

of Artaud,

cch in theatre?
71183

{ Contin ued )

C®
’f
2 Zxg

10

5.

( 3 )

7
f’f'r/‘O—_"

-
o)

- ,.,-.-es:ions :
{ollowing 9% Galileo
rnswer the {0l .y where G&LE
AnSWET ¢ of the city Wi& 11 the

< <
ite the Name =~ © ) e sun is stll
Wﬂte + Ao—r DIOVC .'I‘.at the

Lhe mOVe.

()
get oU
1 1 on -
eartn 18 © iing word
tters the concluding
(p) Who utte

and the Man? e
: tion beginl 1
i . Aoes the ac ;
. \#r?ee ‘Cherry Orchard ?

Arms +he plav,

Y} laa'l
+he Chnerty
i<

ey

who are the O,,,-neTS' r\‘DC'lS?
@ 2 ')ard when the play oP€
Orcn

- 4

1 : 2“4="
1 .
any two of the following . )
B f the gentieman—
“That is 2 photograph of Loy
“ rriot and hero—1t0 o e
the p,ip.«‘ » Who is the Speake‘%qe(: oS
D a7 Who ~tleman referred
r:'ords’) Who is the gent€ .
- ; ever been 10
ind ve You €Vver ‘
p) “Never mind. Have 7 e enom?
v H lland?” Who says U
0 : ' o
t” Who utt
«pon’t cry, little peasinh
c v, .
“ these words and when

Answer any two of the following -
ne e

live in the
) start to I
«1gn’t it clear that 1o

for our
in to atone 0T
(a) sent, we must begm 0 a 0 B e
Pfet to, finish with it? And om;aordmaﬁ.
e atone for it only exfg’ s
on less labour.” Explain with I
cease
to the context. L
{ Turm it
A7/153



(4)

*An incurably romantic disposition. | ran
away from home twice when 1 was a boy,
I went into the army instead of into my
father's business.” Explain with n‘t‘crcnc'o

to the context.

Wnte a short note on Andrea.

8. Answer any fwo of the following : 10x2=20
) f~l-o S Q Q ¥ N S
al Make an assessment of Galileo’s
~hinraata & & : ’
character as presented in Brecht's play.

Or

Discuss how Brecht has applied his idea
of theatre in Galileo.

(L Comr.nent on the idea of ‘higher love’ in
the light of Raina-Sergius and Sergius-
Louka relationships.

Or

Discuss Arms and the

Man as
) . as an
ant-romantic play.

.(-) \‘\'OU. i / ] } m I
C < C I I iE(‘ D ( { o
1S Omed\ (€] a t < d\ { liv

reasoned answer. )
Or

Evaluate

) the c¢h
aracte

Andreyevna R .o Tyubov

anyevskayg

* oo
A7—5500/153
3 (Sem-5) ENG M 1

3 (sem-5) HIS M 1

2016
HISTORY

( Major )
pPaper - 5.1

( India under the East India Company )

Full Marks : 60

Time : 3 hours

in indl [ rks
The figures in the margin indicate full ma
- for the questions

Answer all qu estions

Answer either in English orin Assameseé

1. Answer in one word or in one sentence 2 1x7=1

By T @1 TS TR

(@ Who was Count de Lally?
o0 R afe @R =

(b) Name the Mughal emperor who had
granted ‘irman’ to the East India
Company in 1717.
sasq O 3B HeW @RS R TR
4 Qe SoeR AW R s ?

(c) In which year the first rupee of the East
India Company came 1nto circulation?
3 ey @RI I DIR AT HeR (&=
5 C2iE ?

A7 /357 ( Turn Over )



P

(9)

2. Answer in brief -

=]

(2)

Who was called the ]lg(‘[‘ of M
- . N vs [
"-f‘:ﬂ I I IR IR RS 0 S
! el O | b

-)  What was the ‘sunset law™?
X AR R R 0

Name L‘he British officer to whom
;:e entre credit of the suppress;i .y
| ion
e Thugs during the time of Bentin "
R TS 9 SwEe ] m-\qu'
3% Rege e 5 cwgey Wit o

Victie the State which was the first
m of Dalhousie’s Doctrine of Lapse

TERY TR fifeq -
T forn | ST 43 TECSIN AR

(¢) When was the

(d) Name two leaders O

3. Write short notes on any

(3)

Treaty of Serngapatarm

why 18 1t regarded as @

signed and
hing significance?

dncumcnl ()f fm‘—rvuc
Sawep e @ qrfae Cofes w4 G2
pf s fau spraepiiA ey pia favicet o
EHEL R

f the Khasi Revolt of
1829.

syay b AR AUz e T o faran

three of the

following :

o i Rl FofpT @ofa B B for

(a) Rural Indebtedness

5x3=15

i 2x4-8 BNCR Guics)
(@) Mention S (b) Treaty of Bassein (1802)
acquisition of Diwf:-l 1‘;ances of the @A pfE (svol)
Indi 1
ndia Compapy ; of Bengal by East (c) Haidar Ali
152 5T % vy e 2
~ ) mm
L 2y foey e frar (d) Bahadur Shah Jafar
(b IR RS
) What were ‘Ma) ™
| ‘s and ‘Sajr» (e) Doctrine of Lapse
s o wafcene S
A7/357
A7/357 ( Turn Over)
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